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Q1) Write the 4-digit numbers.

1. 9,000 + 100 +30 +5 2. 6,000 + 700 + 40 + 3
3. 2,000 + 300 + 90 4. 7,000 +400+80 +4
S. 9,000 + 200 +50 +5 6. 5,000 + 100 + 50 + 4

Q2) Multiply whole hundreds.

1.3 x600 = 2.8x300 = 3.3x800=

4.3 %300 = 5.3x100= 6.6x200=__

Q3) Divide the food between the kids. Circle the correct equation.

DX 2= 12 -4 = 3x3= 6 ¥ 2=
8+4= 8-4= 3+3= 6 x10 =
How many bananas How many muffins

does each kid get? | does each kid get?



Q4) Write the time below each clock.

4.
Q5) Write the fraction.
1 . 2 ,
3 - 4 _




Q6) Fill in the following table.

Shape Name Number of Number of Number of
P Faces Edges Vertices
Triangular
Pyramid

Square Pyramid

Cube

4
4
f
g

Cuboid




The Aster School
Sample Admission Paper
Grade 4
Reading Comprehension

Q1) Read the following story and answer the given questions.
The Fox and the Stork

One day, the fox thought of a plan to amuse himself at the
expense of the stork, at whose odd
appearance he was always laughing.

“You must come and dine with me today,” he said to the
stork, smiling to himself at the trick he was planning to
play on him.

The stork gladly accepted the invitation and arrived

in good time and with a very good appetite. For dinner, W
the fox served soup. But it was set out in a very shallow = A =
dish, and all the stork could do was to wet the very tip of == & >
his bill. Not a drop of soup could he get. |
But the fox lapped it up easily and to increase the
disappointment of the Stork, made a great show of
enjoyment.

The hungry stork was much displeased at the trick, but he was a calm, even-
tempered fellow and saw no good in flying into a rage. Instead, not long
afterward, he invited the fox to dine with him in return.

The fox arrived promptly at the time that had been set and the stork served a
fish dinner that had a very appetizing smell. But it was served in a tall jar
with a very narrow neck. The stork could easily get at the food with his long
bill, but all the fox could do was to lick the outside of the jar and sniff at the
delicious odor.

And when the fox lost his temper, the stork said calmly, “Do not play tricks
on your neighbours, unless you can stand the same treatment yourself.”



Q1). Answer the following questions:

a) What did the fox think about the stork’s appearance?

b) Explain the phrase ‘Do not play tricks on your neighbours unless you can stand
the same treatment yourself” in your own words.

Q2). Below is one of the main ideas of the passage.
“control your temper and tackle a situation smartly”

Find three examples from the text that support this main idea.

1.

2.

3.

Q3): Put the following events in the passage in the order they happened.
Mark the first event with a 1, the second with a 2 and so on

A.  The stork could not eat the dinner.
B.  The fox got mad.

C.  The fox invited the stork to dinner.
D.  The fox could not eat the dinner.
E.  The stork invited the fox to dinner.

F. The fox thought of a trick to play on the stork.



Q.4) Match the words in Column A with its meaning in Column B

Column A Column B
1. appetite A. unhappy
2. lapped B. desire to eat
3. promptly C. good tasting
4. displeased D. drank
5. delicious E. at the exact time

Q.5) Explain the meaning of the following expressions in your own words

i. “flying into a rage”

ii. “even-tempered fellow”

Q2: Write a on anyone of the following topics (100 — 150 words) :

(a) Would you rather live in the city or in the village? Why?

Or



(b) If you were a teacher, what subject, class, and grade would you teach?
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